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Freferiaa # @ forw g 9 qfe o1 wgelt SR SR fear e o 7
ATHYTHTOT Y7

In which of the following age copper was first used ?
Chalcolithic Age

TreforRaa o @ fopm v v wem sig Ty s Sreier fopam mem 2 7
TSR

The first Buddhist Council was held at which among the following places ?
Rajgir

Freferiaa ® @ v o7 <afts & e am Lemmiter fRrreadt’ off o 2
e we e

Who among the following is the person whose name was also ‘Devanampiya Piyadassi’ ?
Mauryan Emperor Ashoka

G R S (fem-qu) o O weer Y Sier 1 wm % THY | wgd s
gaT |
TTESTal

The pietra dura or coloured stone inlay work on marble became very popular in the days of

Shahjahan

TS S $1eAT HU Y TG g8, e Wi W FefaRaa & @ Rpweer wmae o 7
T GHTE

When the East India Company was established, India was ruled by whom among the
following ?
A Mughal Emperor

YEH-UTHGH 3Tiaier Fferiaa o @ fpesh g & ferar i o 7
fortar wma

The Bhoodan-Gramdan movement had been started by whom among the following ?
~ Vinoba Bhave

04

<IEl ek AT b SR, Ffeaa # @ forw am e wRfchdt 3 iefoh o) Streier @ Shaet Tou
b Hiftra 1 T <5 fore Tt fomarm o 7
HHETGH TSI

During the Dandi Salt March, which among the following social activist had persuaded
Gandhiji not to restrict the protests to men alone ?
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Kamaladevi Chattopadhyay

BTG ! Ugelt W aﬁaﬁsﬁmﬁf@aﬁﬁmmﬁr%mg ?
Full Marks
The first clear expression of nationalism came with which among the following revolutions

9P
ot sih

wehT <h eferia i 2 form stfrforem <5 shror diord & Rier i a1 Frmifor gam ¢
WA T Arferfrem, 1935

Which among the following Acts of the Government led to the creation of the Sind Province
from Bombay ?

Government of India Act, 1935

10.

TTeg ¢ 1 A ot feee)’ fopem fear o 7
Ty =g \|

Who gave the famous battle cry ‘Chalo Dilli’ ?
Subhash Chandra Bose

11.

Torea ot T =it =1 TEe e S fRme
JuTer 3R fresa

Mount Everest — the highest peak in the world is located between
Nepal & Tibet

12.

Trerferfea = @ v § “sree B T w5 ger s R R 7
I ATHAT & ST I A

Which among the following is the main reason for “October heat” in India ?
High temperature associated with high humidity

13.

nn?ﬁamw;ﬂwﬁamwana(GMT)@r IR |
sl Eré
Indian Standard Time is ahead of Greenwich Mean Time (GMT) by

5— hours
2

14.

ﬁmﬁmﬁﬁﬁqmmﬁmmwaﬁhmﬁ% ?
-t <hl SueTedar

Which of the following is not the economic factor for influencing the population distribution
?

Availability of water

15.

Frfafaa 3 @ fore ) ) “fogr =1 o’ wET ST R ¢
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Eaci|

Which of the following rivers is known as the ‘Sorrow of Bihar® ?

Kosi
16. R <ht vereffe Aomrant i 3ifo weftepfa FreaferRaa § @ forees gro & oft ¢
T ferene aitwg
The final approval to the five year plans of India was given by whom among the following ?
National Development Council
17.  Topelt oft fereprersfier arefouercen & wrifves =worl 4, arfresiy nffaferf &9 ¥ Heltra
A E |
e
At the initial stages of any developing economy, the majority of activities belong to the
sector.
Primary
18. Tm=feriaa # @ = w1 gfa shifa <t Torfifer ot fewem o 7
Ig wfl
Which among the following was a part of the green revolution strategy ?
All of these
19. fr=ferfiaa @ @ @i s anftricues S 7@ 2 ¢
Trselt
Which of the following is not a Commercial Bank ?
SIDBI
20. Trefafaa o @ 1 1 AresTies &5 T SUshH T o qad Teh TSI I UTid hieh T foper
TR ?
e P
Which one of the following public sector undertaking is established by passing a special law
under Parliament ?
Statutory Corporation
21. WA st Gu wRiwof 7 frafefea ® & i e & g 7
TSI o gerwE
In the Union Executive of India, who among following is not included ?
 The Chief Minister of States
04 4 MASTER




22,

% T WifeTeh AMTUHT Y AR e o 9fF & |
Halie AR 3R I =AM :

has/have the power to implement the Fundamental Right.
The Supreme Court and High Courts

23.

TR ®, TR Araferes i 3w feferfaa o @ frg garer % anfia ? 2
& WA

In India, The National Human Rights Commission is under which of the following ministry ?
Ministry of Home Affairs

24.

Frerfaftaa o @ fondt foneht g wira wew o 3= =memer wofia 0 %7 SRR R 7

HEq

Who among the following has the right to set up a High Court in any Union Territory ?
Parliament

25.

frerferea o & @i a1 stgese i wfaum § vt =mrer i e R Tt S AR A R 7

Which of the following article is about Establishment and constitution of Supreme Court in
Indian Constitution ?
124

26.

AR =1 T1 FrerferRad # 4 g w i sar 2 7
I A9HE

The colours of the stars depends upon which of the following ?
Its temperature

27.

frmferiea # @ i ot g vt afifn & forg Rdere 2 2
Heea iw

Which among the following gases is responsible for global warming ?
Greenhouse Gas

28.

=i wre v % freferaa ® @ forer 3im et wenfera sar @ 2
TS

Pneumonia affects which of the foIloWing part of human body ?
Lungs

29.

Freferitaa § & o @ sy W T R o
TR

Which among the following is not a plant fibre ?
Nylon

30.

Ty shifrent iy e @ Rrea s Bt 2 2
Qe

Plant cell wall is made up of what among the following ?
Cellulose

31.

(5.21 x 6.32) —2.9272 =

MASTER 5 04
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30

32.

(0.05)%+ (0.41)%+ (0.073)? i
(0.005)% + (0.041)2 + (0.0073)2
100

33.

40% SRR GHFER-T X Tqa & 3 50% =R THER-93 Y 984 § | 10% =IRe Ol e
T UGd @ | fore =tk gl 3 @ Y g T wed §
40% persons read newspaper X and 50% persons read newspaper Y. 10% persons read both

newspapers. How many persons do not read any of the newspapers ?
20%

34.

5 AR <67 3T 46 2 S dgel IR 1 45 2 | diee) aRomm 2 -

The average of 5 results is 46 and that of the first four is 45. The fifth result is
50

39;

V29.8116 ++/77.44 =
14.26 |

36.

‘wely’ wreg 1 wEt GfYr g wamsT |
gl + Ry

3.

foper fershea # wreg -3 ot aef- g el T @ 7
IS - e e - e

38.

fere ferenca & meft v wteR qorfoar=h & 7
arelelt, Tgoft, werh

39.

forg Tormrea o wdl oot -gm @ 2
I - qUed

40.

G IATS YT - Ygrer i 37 R
W ATl Y T HET |

Read the passage carefully and answer the corresponding questions : (Q. 41 and 42)

Last week Caroline went on her first deep sea fishing trip off the coast of Catalina Island. She had
always enjoyed fishing when she was a child but had never gone fishing in the ocean. Her dad liked
to fish very often. Her big brother Jack was never the outdoor type, so her dad took her out often.
One of his favourite spots was Lake Isabella, which was about two hours from their home. She
recalls how she and her dad would spend a long, leisurely day driving to the lake, and then taking
his small boat out on the water. It was quiet and peaceful for the most part. Those memories remain
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some of her most cherished moments of her life. Caroline has a friend called Robert. On this day,
Robert invited Caroline to join him on his company’s fishing trip. Robert said it wouldn’t cost much
but would be a lot of fun. He knew Caroline enjoyed lake fishing and figured she would have a
great time. “Okay”, said Caroline, and to the ocean they went,

The first thing Caroline noticed, however, was the motion. “Wow, this boat really rocks”, Caroline told
Robert. “Don’t worry about it. You will get used to it”, he said. The trip to the waters off Catalina Island
took about an hour. Caroline marvelled at how quickly she lost sight of the mainland. It was a bit scary
when she thought about how alone they were in this great ocean. Soon, it was time to collect squid for
bait. The small boat stopped in the water and the crew turned the bright light into the ocean to attract
the squid. Before long, thousands of squid rose to the surface and were collected for bait. Afier about
an hour, Caroline didn’t feel the rocking motion anymore. They were ready to fish. Caroline caught her
first ocean trout. It was a beautiful day.

41. Was Caroline’s brother an outdoor type ?
No

42. Why were the squids collected ?
For baiting

43. Give synonym for the word : “Partial”

Incomplete

44.  Choose the correct antonym : “Disappoint”
Satisfy

45. Give one word substitute for —
“The practice of writing, editing and /or compiling dictionaries”

Lexicography

46. T AfEE 6 S FAR Fad g, Trowwr 3 wer, “o8 W O F gy 1 el Fa 61 SR
o1 ? 1" ufgern e & frd yoR el R 7

et

Pointing to a woman, Nilesh said, “She is the only daughter of my wife’s grandfather’s only
child.” How is the woman related to Nilesh ?

Wife

47. STETG 3 R /Find odd one out -
8,27, 64,100, 125, 216, 343
100

48. 1 SHalt, 2006 i T & | 1 e, 2010 Y GHTE 1 hH @ T o7 7
IFRER

MASTER 7 04




It was Sunday on Jan. 1, 2006. What was the day of the week on Jan. 1, 2010 ?
Friday

49.  Twieritem e # e fou e & 3 g el % wg i Pl U R | TR 1 T 39 e
1 o e e frsamet & @ =t ar e e w @ s et ot et few fa f o sl
1 dTfoheh T Y FTET KT R |
Y : qufl foparel O # | 5 Yt o § | 5 e Sholet § |
s -
I PO fhas § |
. 8 SeAstIwE |
M. %o foha sHerd |
V. %o fhae el § |
¥ @ % el
In the following question statements are given and these statements are followed by
conclusions. Read the conclusions and then decide which of the given conclusions logically
follows the given statements, disregarding commonly known facts.
Statements : All the books are papers. Some papers are journals. Some journals are calendars.
Conclusions:
L Some journals are books.
Il.  Some calendars are papers..
II.  Some books are journals.
IV.  Some books are calendars.
- None of these
50. 3f¢ NORMAL %t RPNLBM ¢ &9 & hifea R <mar 2, a1 GATHER 1 18 901 871 7
IfNORMAL is coded as RPNLBM, then what is the code fqr GATHER ?
TBGRFH
51.  fwforitee @ form 31 o ik 3 ween S o7 dam Rear g 7
. RS
Which among the following country’s scientists have prepared first synthetic embryos ?
Israel
52.  SuEs g W et 3 @ feg tsa o IBX (3Fean Seemer gforam waeei) it fea
g7 |
TRId
04 8 MASTER
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Prime Minister Narendra Modi has launched the IIBX (India International Bullion Exchange)
in which among the following states ?

Gujarat

33.

Rferiaa o & fora w1 ) v, 2022 T TTFET o STEUTH JTUHT 3T b h1 T 73T 4T ST
femam ?
<

Which among the following countries conducted its largest-ever military exercises around
Taiwan in August, 2022 ?

China

54.

JTTE, 2022 |, WA 6} Tmelt TSI UGl 1 IqETe foretforRaa & & Fver wre A febarr v &1 7
EAREAG)|

In August, 2022, India’s first underwater metro was inaugurated in which of the following
cities ?

Kolkata

55.

IR T 3 ST, 2022 AT Teh Gt TR IUE TR ST Bl SIS
fear o | : .

LS JENE

The Indian Army had conducted a pan-India satellite communication exercise
named in July, 2022.

Skylight

56.

W % o Q1 911 & offer “arerar @R 1 yeetl 3 1 3T fopam T 7
eI @ TEATG

First flight of “Akasa Air” had been inaugurated between which two cities in India ?
Mumbai to Ahmedabad

57.

STSTTEH T 3TYd TElewel & q8d ‘T el At Freforiaa o & e cheer wimerr grT w fepar
TR ? -
‘Badhe Chalo’ campaign under Azadi ka Amrit Mahotsav has been launched by which among
the following Central Ministry ?

Ministry of Culture

58.

fFrferfaa o @ forer 11T Yyt s senfoeey oy 31 ST o TeTT * Al4Bharat & erenoht g
6 yeama H B ?
IIT w5

Which among the following IIT has launched the ‘Nilekani Centre at Al4Bharat’ to advance
Indian language technology ?

MASTER 9 04
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IIT Madras

59. fera Shgftar weft Y sreaaran # =g § xfieh waratl o) qawnd 3R TER TR 9 ek U aee
STRITTT fohaT TR 2
It wme
A National Conference on Drug Trafficking and National Security was held at Chandigarh
- under the chairmanship of which Union Minister ?
Amit Shah
60. T=TeTRea o @ S |1 oo Wit W vger B SR STer SHI TS S TR 7 |
ticH)
Which among the following states became the first ‘Har Ghar Jal® certified state in India ?
Goa '
61. fraforiaa & & i wra & v WA R ¢
L&
Which among the following is not a neighbouring country of India ?
U.A.E.
62. TFeffead gt Rwda g = ¢
What among the following is the national currency of Hungary ?
Hungarian Forint
63. TSI o NG HTHT oh T U S WA % Tget T2 oh 719 TSy |
JATE
Name the first state in India formed after independence on the basis of language.
Andhra Pradesh
64. I BT H UG TR0 < <Y =fTae A 2 |
2594
is the minimum age for holding office in the Lok Sabha.
25 years
04 10 J MASTER
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65. raus e feferan feaw fore arifg s e ST g ¢
2278

International Day for Biological Diversity is celebrated on which date ?
22 May

66. Feffeadd s o R s TR s dug ?
Arel giq

Which among the following is the largest river island in the world ?
Majuli Island

67. eh e i w as T8 ?
IR e

Nautanki is a folk dance of which among the following states ?
Uttar Pradesh

68. IF=RITH Nt wfiife 1 g g
feagrels

The headquarters of International Olympic Committee is at

Switzerland

PR ey e cemp——— A S

Who among the following wrote famous book ‘Powers of the Mind” ?

Swami Vivekananda

70. UNFCCC w1 31 frerferfaa # @ o g 2
ATEE I e A A FATGHE AT
UNFCCC stands for what among the following ?

United Nations Framework Convention on Climate Change

forieTiar STgTeae i T TGt g8 1 ST (3. 71 8 75) % I AR |

T TR % e IS ! & Tl a1 ST 8 | AT &l G i THTfed shidr 8, 981 98
urst § getferd off gt 8 | <ufes aur St i S o o s 8 | anfeed O € g a1 Tiiese!
gfegre shl ST et 8 | Sieh I o1 anfee 1 37 & serfefier fermdh g fomeht = fomeft v o

MASTER 11 04

"

b,
( e SmaeaTe )
o¥len s

- N
’{T'[ﬂ“;{ 2] ¥

Al 4
&




3pere Tfere Bia 8 | wifeer gurl wiqee va o giwit ot 6 furar ) qu s g | arfe
o & forelt g w1 sforera, i, wepfy oitt @, TuT % el % foEml wd sEEETr, e Of-
et @ -aee 3T gt 3 Y e wre gielt 8 | forw shrer § 2w 3 fopg wmr 3 B i s
siteft Srelt off, 38 T <6y S < oft, Tee-Hee e o, ariees 3 enfife Rem e 9, o
TS 30 T % Hifeed e AFa g |

HTEed TS 1 gH01 3 - 36 AT et & Fom annfece @t b1 7 Sheret ot s st 8, 1R
G o Widl o8 191 qrirea faitg oft ohean B | e # Sheft srmiforesar, arusterdr, Pigear S s
el o gl Wl Afee o d miensft w9 o g wwe e 8 | ) wifec i s @ o
INYfieh shret b Werd SR Tl TSGR deshrefie T <Y uftfeufar, ferame & el w6t ol
SR STH Bi @ | 98 oft @t 8 fob afe anfacy sree o Sharer @t o1 <dur g, A i 91 EnfeereR
TSl bl feremiorlt a1 fergsmatt o s & whtar 31 38 anfda fesm iy 2 F e ot wresfier T
TEa1 | quIst o Siftr e b i SAT 1 AR T, IcEiE F FHdese Y fwm 3y anfe R |
T TS T Tt 3T eh o TTTEeaeh oh! T&) TIERITeT IoRT W& & 6 Tt ol SR ! shed o)
9 g@g ut g g B 8 Fed1iged i AR et S TE gear 2 | Trfec § 98 wiRe & <) dig aur
aerer | o e B |

71. Wﬁaﬁawﬁaﬁg%&rmww% ?
A1 ! WA AT

72. wifec g6 fopw ag & ol difeat ot swesr 2@ ® ¢

T I glergr, TRAT, FEpfi-TwraT, qeeil % R, gaam il awere arfie g
WA ST HhA § |

73.  WIEcd hael GHTS T U RN AT 8§ 7
w1 WTfee G T oht frgamnait aitt Rmfer @ ver s o gan @ & SR
HISw B

74, SR TSI <1 Gt 3R 3o w8 TehaT R 7
wifeed IR Tt

75.  WTfecrehT TTSt o Sfer 3797 3899 1 ohet ufyef whear @ 7
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YT AHTS o 70t hferait GRT ST <1 HER HTal § N IcHTE T HAsAdTg i Holl
R

Prerferaa Frgese S @HYds Tgeht I8 TR WE (7. 76 | 80) o IR i |

e <h) e uRe R ailt whe “Rr g9t W et Tre gl ®, J1ven 98 ‘gR % anl g,
et s 6 oy T8 8, Rrad g A o B h R A T | gg dt A S w7 | w
T, T, B, To =eld -, ISa-93d, Wid-TId, WeTd-hed IR HH Hd §Y I8 A 1Y T8
i A St ey g foran st at fopen sroT 81 | a8 ae St wever R fore T - et firg
gan & | g ot o fore on & Rrg 2 | wrew it arfen s mnt foraen e @ e € o o, “aif <A
YT TR T & T R | e T S o Era e @ TR 1@ o = Gehdl 8, T 31 JAfEE 6 SR 3Ty
off varel § | S0 <h b = AR | ver-uer anee @ € 3Eeh g3 B @ | Sifehd T % Tl oel ol 39
38 AT § | IEEh! el HeuT & <hl ST Tkl 8 | SR 8 G ATYEd 47 ohl I&TTcsh el e
BT | 3T: 37 1 4g1 o I <hl TSR a1 @ & St @ | 56/ arfden foremg % et vt | g
% T 8 HaTel ey g3 36 3roe wit § ST oot Henel ol @R A1 38k TR S AT AT U, 9 HLal
ST 3R ST S | 36 @1 TR 191 S e R 8 3T e WgdT,  el-<hl-cl W € T WA § | Hehe
T 3T a1 Sgal & Al Tgel &) =19 1 3o <@ fon R oy FY 38 oo 8 9 w1t 6 8, 9fch
ofier B | gehfere S8 -3 e Heat ST 8 98-8 I8 NS @ Smar @ 3R we gL gedl Sl |

76. TISITg Y T = FEET % U T T T Fhe! ol FIHAT <hel ShiAT ATEY, 7
Hehe! sl wa ge il mar o femm arwt svgen =nfae |

77, Gea 3R 3tfEar o wrl ot A R 9 = o T I SRR ?
91T e 3 Srfear w1 "t R dien § 3o & 6 8 31T 38 9rl W ST I HioH
21

78. Wmﬁm—ﬁawﬁmﬁmaﬁﬁ%mgnwmm%?
Jaf

79, e “TeRETE W % i G (T I S G R 7
HUTHTR

80. Ty <hi T HH Y T =Ml ?
HGIYEih 37 e T o Al R 3T aga §Y TH e i WIEThR |

we . 81 T 85 : Frferiaa arferent o e o 3R 36 W i el 6 I G |
Q. Nos. 81 to 85 : Study the following table and answer the questions based on it.

e e =t witrerd woeht & =@ (wr@ T |)/

Expenditures of a Company (in Lakh Rupees) per annum over the given years

=Y % WE / Item of Expenditure
T/ Year a9 / Salary e ¥/ 79 / Bonus I R ! =l / Taxes
Fuel and Transport Interest on Loans
2011 __300 100 2 13.4 85
2012 340 112 1.52 22.5 110
2013 524 105 2.84 31.6 75
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2014 340 135 2.68 26.4 78

2015 450 152 2.96 394 88

81.

39 31aIfes o QO et wt i o st <6t aitera aid fea ger o 7
* 26.66 9@

What is the average amount of interest per year which the company had to pay during this
period ?

* 26.66 lakhs

82.

< TS Rl 3 SR SOt G YT B TS e <R e TR, 59 ST 3 SR ST bt T e
1 et TRT <61 Tt feraan wfewma @ 2
The total amount of bonus paid by the company during the given period is approximately
what percent of total amount of salary paid during this period ?

0.6%

83.

2011 ¥ 59 9+t G} W e S, 2015 W et S BT ST RbeHT Serwra T 7

Total expenditure on all these items in 2011 was approximately what percent of the total
expenditure in 2015 ?

68.33%

84.

¥ 2013 % G § Hel T HUH 6T HoT = R & 7
* 738.44 @@

What is the total expenditure of the company over these items during the year 2013 ?
* 738.44 Lakhs

85.

wuft et o fore At ot et s o wft et o fore St it ufere W et s % i o s
SHEST: ST 2

The ratio between the total expenditure on Taxes for all the years and the total expenditure
on Fuel and Transport for all the years respectively is approximately

109 : 151

SR Y. 869 90 : T SRR 3 Ok o # it R @il st 10 ot % fore e we el | afert Y 09
BT Sl o I AR & | (BT % TN 250 (WS B % WeRr) b e & 7 < sen 2 1)

Q. Nos. 86 to 90 : A person bought five cars in a day and put on rent for 10 days. Read the table
and answer the questions carefully. (Standing time for car is not taken as consideration.)
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sfefer s gu gt | 10 Rt % Ao por gt v d @
R T HIEAST / Mileage of Car + sitwa am/ Average | ¢ UHY / Total time taken to cover
amount of diesel used | the total distance which is covered
per day during 10 days
AleRd / Alto 25 fop. i, /ft. / km/litre 10 #f1eT / litres 50 ¥ / hours
e / Swift 22 &5 1ft. /=f. / kmilitre 10 e / litres 555 / hours
f&amn / Tiago 30 fop. o, /=ft. / km/litre 12 #ftet / litres 50 ¥i¢ / hours
Rt / Mini 20 o571, /<M. / km/litre 25 #ftet / litres 80 ¥i¢ / hours
s / Kwid 25 s 1. /el / km/litre 20 eflet / litres 100 ©2 / hours
86. 10 ferTt % SR 3tfeer 3t feami <hY aitere Tifet o1 SteaTa o o ?

What was the ratio of the average speed of Alto and Tiago during 10 days ?
25:36

87.

3riee) 3R foers few e 10 femi o <o vt sfte e <t T ifer & woh—gEr Y S A W
@8 | e & we, A Teh-g & yeare foig oY 3 am wha # | Al g A el & e
glt 2300 fo.fh. 2, ﬁmﬁ%m@—ﬁﬁﬁa&%maﬁwwq@ﬁﬁwﬁ
ﬁwmmmﬁml

0 €T

Alto and Kwid is travelling towards each other with speed same as their average speed during
the given 10 days. After meeting, they travel to each other’s starting point. If initially distance |
between both cars is 2300 km, then find difference of time taken by Alto and Kwid to reach
their destination after meeting each other.

0 hour

88.

Tew e 10 et 36 Stom e frft R ekt st wifer @ 875 Fo.wht. <Y ama whet 1 for e wwr b
few e 10 femi < S R feawe grr swreht st wife & 990 T35, i = e #f R g T
Y AT T HIRTT |

Find the ratio of the time taken by car Mini to travel 875 km with the average speed of it

during the given 10 days to the time taken by car Swift 1o travel 990 km with the average
speed of it during the given 10 days. '

56 : 99
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89. ufewvfl i grr 10 el o 7 <6t 7S Bt gt FR A ITRHR B swA: 150 W@l 31 300 el & @@
FUdl &, R A 3R B ht 3w 7ifer % sfiwr o1 3iae s B |

If the total distances covered by all the cars in 10 days is covered by car A and car B in 150

hours and 300 hours respectively, then find the difference between average speeds of car A
and B.

61 fo. 1. /aver / km/h

90. 10 &1 = G feamiy afix firt g <t 718 et gt o1 ST fope o 2

What was the ratio of the total distance covered by Tiago and Mini during 10 days ?
18: 25

W H. 91 | 95 : T Tan ITer@ 1 ST LS 2001 § 2006 6 B 961 S QR T oy s
TEATT | A T SO B 3R O Bie aret heami <6l e guitar 2 | (ad 2000 % o= = at
15 HHTRT Y=t 3 wfirer g3 & 3T 7 € ol Sight W R )

Q. Nos. 91 to 95 : Study the following line graph which gives the number of employees who joined

the company and left the company in the beginning of each year during six years, from 2001 to
2006. (There is no employee joined the company or left the company during the year 2000.)

2000 ¥ wenfat & T @eat = 5000
Initial strength of Employees in 2000 = 5000
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e S wEn
No. of Employees

2001 2002 2003 2004 2005 2006
o / Yenrs
= Al 3 Wi B A w6 dor
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— WY BIE A a6 e

Number of employees who left company

91. 2003 % G shu-ft & shreiva sheferiea shY wer ot ;
The number of employees working in the company during 2003 was :
5000

92. Torw o # firmet o ot qor § ot Bie aTet =i o T | wiwra gfe / et stirehan
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For which year, the percentage rise/fall in the number of employees who left the company
compared to the previous year is maximum ?
2002

93.

2002 | 2003 T SHHATIE! <hl T B TRt fehe wfererel =61 afie /et €5 7

The strength of employees increased / decreased from 2002 to 2003 by approximately what
percent ?
1%

94.

2003 H Yt 7 1 BT a1l HHETIET ol G, 2006 F Ot 7 BT ) el HUTE] 6l G
o1 YT foha sfcrera eft ?

The number of employees working in the company in 2003 was approximately what percent
of the number of employees working in the company in 2006 ?
96.15%

95.

218 ety < e et oft o ot amifiret B et s = e w1 S Be
T AT <6 ST T & gurd fhaT @ ?
The ratio of the least number of employees who joined the company to the maximum number

of employees who left company in any of the years during the given period is
9/13

. 96/ 100 : G STCIG T LT whi I 36 T IMETHG T 5 I L |
Q. Nos. 96 to 100 : Study the bar graph and answer the questions based on it.

fora mut # sl gre R v g (o )

Production of Toys by company (in Lakhs) over the years
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e (9@ #H)

Production (in Lakhs)

==

2011 2012 2013 2014 2015 2016 2017 2018
a1 / Years

96.

2013 & 2014 76 RaeiiAl % Iearea § e whesrd e fee off 7

What was the approximate percentage decline in the production of toys from 2013 to 2014 ?
20%

97.

2015 3ﬂ'{2016$l 3ftera Seare Fforiaa o 2 fobw at % gm % sftea s & Rrage st
or ?
2012 3R 2017

The average production of 2015 and 2016 was exactly equal to the average production of
which of the following pair of years ? :
2012 and 2017

98.

2011 ht gt 1 2018 # ReaetiAi % Iearer # e wherera afg fraet oft 7
What was the approximate percentage increase in production of toys in 2018 compared to that
in 2011 ?

137.5%
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99. Tt o <61 ger 7 forw o Seurer i witrera g wed atfws ot 7

In which year the percentage increase in production was maximum as compared to the
previous year ?

2017
100. few 7Tq fepa et ® Raeii=t <1 Serer fow o ot & it Scured @ TR o7 ?

In how many of the given years was the production of toys more than the average production
of the given years ?

4

3

( faems ST )
qden =@
SR a1 Fae A
AGAH
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